Name [Theme Votes
a i i Better collaborati Transmission and Distribution is reouired to enable a securt derati 1
d ops ¢ continuous "l il each other's challenges. Can you achieve this f you outsource
16 Tech i technoloey build2 Solutions 1
Having a ans beine oreoare o do? Challenges 9
databil is much behaviour driven lee EV chareine). Need abilit to adaot auickh x Solutions 9
n Analogous Telco and Digital TV hishlieht the need to fully invol teams from Dav-1.to et the buv-in. Can't treat as a "technoloev" thea " aporoach. derati 8
This reauire from the ton down to_bring alone the the iournev to new mode of operation. derat] P
Jati of key partners of they allow a faster growth. Additionally, they help pre-qualfication processes and integration of
6 ion. virtualizati takehold: Solutions 8
Relationship between hardware/software/human-
d d design and algorithms d in particular to aspects of market desi do not map on future
5| science world derat 7
(ttell I thev' inthe BM Solution: launch the metric. and build IT and score is achieved Challenges 7
How do w uncertainty as to what the future world t us (cf examole Challenges 7
60| Modular Design with a view of the f d the potential supolv demand the world moves awav from traditional sources of energy. derat 7
What does good balancing look like? Ask the RIGHT question. There are metrics coming (ike skip rates) but that doesn't help understand the whole system. Perhaps a percentage of perfect hindsight dispatch to provide a benchmark of
Perfect Solutions 6
18 Should a able businesses in most sectors build their own tech so thev can get a tigh ESO needs to work out how much thev should build themselves Challenges 3
Solutions 6
(Accuracy is crucial, otherwise it islike flying biind. Need to understand the quality of data. Starting point can be MONITORING the qualty of data (tools can be buill. Also once you have accurate data you need technologies to interpret and
disolav it Challenges 6
d ent lar to production forecasting Solutions 5
with and few Examples;: ( carbon reporting . (2) recast operational metering based on resource scale, using Code of
8| Simole. iust do it actions Practice 11 a5 3 auide Solutions 5
run the grid 1t's not the case though - if fails, no-one  ifthe grid fails, (and health) s affected. Electricity is more or ess a human
32| "Balancing” tech and securi right now. Challenges 5
7 Iready facing hizher oeonle and h: d to deliver higher low/ zero carbon? Challenges 4
/ Cer project Public I - 'Access to smart for a public interest purpose'. In June 21 it will set out possible future paths for access to anonymised and aggregated
smart meter data - aligned with privacy Solutions 4
Look at ot made similar d learn from thelr exoeriences. d 4
lution focused. Need d sovernance that faciltate fast paced change. Challenges 4
a2 £50 should involved in t tion centre) iournev] Solutions 4]
We've mentioned “customers” a lot and the customer journey but one of the features of isthe v ~from public to plant. How are we fully accounting for/understanding/prioritising different
I customers d 4
51 [ Transition How will vou actually transition a brocess from old to new... that from what we've seen. butis vital if vou want to 2o asile. and et the speed / learninas d 4
How do you avoid "open heart surgery” on existing
52 svstems?. We've found tech canstarta her than trving to replace them in-situ. Would be ereat to understant ind of approach in ESO context Other 4
oeonle. Other change and s before the Challenges 4
2 ices les etc be changed to remove legacy participants - lack of in deoth knowledge of code ides bi technologies - tuation of old thinking : attitudes. Challenges 3
stacks have rapid integration. fsmall rather than big releases. approach
2 raid C1/cD architecture. Solutions 3
now increase likelihood for smaller (micro assets) is Imit of 1MW going to need to be revised in the short term Challenges 3
How does intent for single platform integrate with
35| ENA open dbil How aligned are orkin ENA t flexibility d / needed by DNOs / ESO in the future Challenges 3
Do we have house to take Or a hbrid, Tech at the moment. Challenges 3
45| PROCESS: changes in the structure of £SO should be done Challenges 3
If there s a change made to Ofem - and ESO to deliver net zero - can the new t of carbon - even f it s I efficient? d 3
12 What is the for It starts with humans...f vou want a start- vour teams set ub ke that? Other 2
13[Peovle [Are all staffs d bonus ligned to deliver of zero carbon operation? Challenges 2
1 s oroduct / function c of a product or d and d 2
25 We are going to have to break t down as we 20 on to enable the TAC to make their and insight Challenges 2
1{Length and value of new services operation and need for greater numbers and complexity embedded eneration how will new (even toinvestin d 2
41 Consumer protection ase vear on vear to balance the sustem with record recently to maintain  suoly margin. What to be put in place to ensure flexible assets don't increase costs d 2
2 deviation from the. chosen technology. DC went much better. DC was based on a more modern standard, which also helped, but the major factor in PAS was the non-standard
a7 wayv elements. d 2
1[Rrocs hen thev particioate in Balancing Markets Challenges 1
Poor auality of backlog is adriver of many issues d 1
When the world permits, can some of us visit the.
in action? trol Other 1
4 Where is the human needed and therefore where do we need to automate to scale. d 1
17 Mind new olatform is caturing mind dominated orocess - ke when reolaced. Challenges 1
hto Could hav in different faciltated workshoos for user desien - eg sol industrial C: wind Solutions 1
Drawing in like David's on hi Challenges 1
37| Change init 1T sustems that interface with ESO svsters - oacts for them and timescales - wil match those? d 1
38 How will users if siven numbers of potential new users d 1
PROCESS: count with fast, flexible and agile
Count with fast, flexible and Solutions 1
4] PROCESS: is t00 focused in the short term. d 1
Couna, Salesforce. EPEX... supportin fewer 2 efficient Solutions 1
It wound be good to get aset d Le. technol d 1
The Often agility is only ‘and not long term. If like in this needs to be Agile really be used? plan yes g define and
54 orioritise investments then nol d 1
24{ The size of the BM like to see the B return Fine. but it’'s about market structure. and it's for OFGE! it build to the BM vou have. d o
4 I think isn't imlement. lusts. d be given the right able to automate their own tasks and orocesses. Solutions o
Why can't you have a parallel test environment to
55/ soeed up ity risk? Testing for Solutions 0|
56 i Similar to what we see with the thousands of alarms with wind - mavbe analvtics can be used to improv! iisation and moving to predictive. Solutions o
57 Testing in Agile sprint Move to app like from current large integrated legacy will need real testing i the sprints derat o




